O EEH
LAZH| 0|
(R
(MY x
AHHICHE O] =3t O] —
bS] F)RYEEN = EH°E|A1|E1H = HIHI| = FAZ|A}L SHAFEAAHEE S ARl X[AE|(F)
= —
FMEFESTE FREESY - RHaEF) (F)LHEEF&B COESuk=A=T0 ElE S
L8 2F(FEA) 400g 4009 600g 400g 5609
10092 74 2,248 2,810 2,983 3,032 3,375
o 148.8 203.2 158.7 159.1 2137
Et=3} 10.7 9.2 93 6.0 78
o 5.6 5.9 6.5 2.6 6.9
I CHEH A 8.7 8.8 7.2 9.9 11.0
ye
(100 X 79 14.6 10.3 10.7 15.4
PES) =3} 33 5.5 4.1 5.1 6.8
E-MAX 0.4 0.6 0.7 0.7 0.9
Z | 2H E(mg) 25.2 24.9 320 27.9 317 359
LIE & (mg) 329.0 308.0 367.4 369.7 368.9 403.8
Lygar M (g) 4211 4239 440.3 659.8 413.9 570.9
AL | ZH|(3L7]+H4)(g) 251.6 200.9 262.3 4154 256.6 392.7
747
2t 17|(g) 194.0 164.9 207.0 297.6 206.5 3125
X HE =ME F FUHNEZ 1009 7t =0HE2 2271 7|18
1) EES(QHAEAL IRt A|QHAIGHM, HIS|E2RM, ABM, D224, OfEA 0|2, EfE2MA A AW 2F 7|F0| Hes gels
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N33 SHLARZE | BB YE A A ZH | A LA 2] Do dELAZE | F=3 2lAZY
=
— Aorg Ot soog
Al f”f %i - AT LAZHI Fodonnh o
(S#<S 22) : Aol LAZH|
Mz (FMEIFE FRIHaFE SHAFEEAA”(F) (F)ZH Ty (F)DIE"w3 FErAZ 40 E
SMUERSTHEE04 (Foloe M I | () CIHOIAHZE FAZ|AL (F)AtO| e - FEE3=g4
LH-E2HEAI) 800g 1,000g 500g 500g 800g 600g
10092 7HZ(&) 3,475 3,565 3,780 4,600 4,613 5,000
& Z(kcal) 199.6 195.4 195.3 1772 199.1 206.8
Et2tE(g) 5.6 125 12.3 11.0 15.2 10.1
=R (0)) 4.4 9.0 40 72 96 6.5
Aot EELEST()) 8.3 9.7 10.6 6.9 93 7.7
=]
©ns HE
(100g XS (9) 16.1 1138 115 1138 13 15.1
718 | m3IX|k(Q) 6.1 49 48 48 44 6.9
EMAX|H(g) 0.8 0.5 0.6 0.8 0.6 1.0
Z | 2H E(mg) 33.6 28.1 27.0 26.9 314 37.2
LIE&(mg) 3272 546.1 327.1 39338 452.0 353.8
Li2at HHl(g) 817.6 1024.2 508.9 567.9 819.1 639.7
g2 9
AL | ZH|(27]+H8)g) 539.4 664.5 3184 3443 564.8 4195
2t 17|(g) 420.8 493.7 2514 269.2 4116 3250

X HE =Ms F FONER 1009 7t =0tH2 Y7t 7|1%)
1) EEZ(QHAEFM, D2t AIQHATFM, TS| EZ2 R, AEM, T2O[24

— —
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